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35) Customer satisfaction is considered as an Operational Impact of Data Quality.

36) SCM seeks to maximize supply chain cycle time.

37) Data Cleaning is the process of detecting and correcting corrupt or inaccurate records from a record set
table, or database.

38) Anomalies are exceptions to expected patterns. They may indicate an interesting data point.

39) Tracking goods by RFID has the ability to enhance relationships with suppliers and customers.

40) Program changes are a fact of life during initial development and initial development.

£

Write Short Notes on the Following Terms: (20 mark)

1) State the main differences between Operational, Tactical and Strategic impacts of data quality.

2) The Facets of Data Quality are Uniqueness, Accuracy, Consistency, Completeness and Currency. State
an example on each one of them.

3) List Key SCM Issues.

4) Reduced complexity is achieved & kept by the creation of code that is Simple, Readable, Understandable
and Easy to maintain. List different proceeds that lead to minimize the complexity.

5) Supply chain decision support systems.

6) Issues considered in evaluating supply chain decision support systems.

7) The basic considerations for Quality System design.

8) What a Quality Management Plan (QMP) is and why it is required?

9) Discuss the ten elements of a QMP and the topics to cover in each.

10) The graded approach for designing a QMP.
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Q6) Given relation PAY as in the previous question, let p1: SAL < 30000 and p2: SAL _ 30000 be two
simple predicates. Perform a horizontal fragmentation of PAY with respect to these predicates to obtain
PAY1, and PAY2. Using the fragmentation of PAY, perform further derived horizontal fragmentation for

EMP. Show completeness, reconstruction, and disjointncss of the fragmentation of EMP. (5 Point)

QN LetQ= 45} be a setof queries, A ={Al......., AS} be a st of attributes, and S = {$1:52;83}
be a st of sites. The matrix of Figure (a) describes the atiribute usage values and the matrix of Figure (b)
n access frequencies. Assume that refi(qe) = 1 for all qu and Si and that Av is the key

gives the ap
attribute. Cateulate the attribote affinity matrix A4 and count(As, AA3). (5 Poinis)

@ w

Q8) Which of the following historics are conflict equivalent? And which are serializable? (5 Points)
Hi = {Wa(x) Wi Rs(x); Ri(x): Waly)i Ra(y i Ra(z); Ra(x)}
Ha = (Raz)Ra(y); Way); Re(2); Wi(xB Ro(xi Wa()i i)
T3 = (Ra(z); Wa(x); Wa(y i Ru(x); Ra(x)i Ra) Ro(v): Wi(x)}
Ha = (Rafz)i Wa(x); Wa(y); Wi(x)i R ) RS R(2); Ra(y)

With My Best Wishes
DR. Ahmed Elashry
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Kafrelsheikh University
Faculty of computers and
information

4" level IS Final Exam
Date: 13 /6/2019

Subject: E-Commerce
Time alowed: 3 hrs.
Pages: One Page

Question 1: {20 Marks]

1.1.

1.2.

1.3.

1.4.

What is e-commerce? How does it differ from e-business?
List eight unique features of E-commerce Technology?
Write a short note about three Types of E-commerce?

Give examples of B2C, B2B, C2C?

Question 2: [20 Marks]

2.1

22.
2.3.

2.4.

Write a short note with graph about Web Site Systems Development Life
Cycle?

What is the difference between a business model and business plan?
list at least four key components of an effective business nrodel?

What forms of information do content providers offer?

Guesdon 3: [20 Marks]

3.1

3:2.

3.3,

what is the differences between a simple logical and a simple physical Web site

design?
what are situations for using single-tier and multi-tier site?

What are the main factors to consider when choosing the best hardware

platform for your Web site?

with my best wishes Dr: Reda M. Hussien

Pagelofl
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Kafrelsheikh University Final Exam of
Database Administration (IS415)
2018/2019 (second Term)

Date: 10/ 6 /2019 — Time:3 hrs

Faculty of Computers and Information

Department of Information systems

Q1) (20 Points)

A) Define the following terms: track, block, cylinder, sector, interblock gap, read/write
head, Database authorization, Database Audit, and Audit Trail (8 Points)

B) Discuss the time components involved in accessing a disk block. (6 Points)

C) Discuss the advantages and disadvantages of using (a) an unordered file, and (b) an
ordered file. Which operations can be performed efficiently on each of these
organizations, and which operations are expensive? (6 Points)

Q2) (20 Points)

A) What are the main goals of the RAID technology? How does it achieve them? a3
Points)

B) What characterizes the levels in RAID organization? (6 Points)

C) What are the differences among primary, secondary, and clustering indexes? Which
of the indexes are dense, and which are not? (3 Points)

D) Consider the relational database schema in the following Figure.

EMPLOYEE
IFnamu % Mindt | [name| Ssn I Bdate | Address : Sox | Salary | Supef_ssni Do 1

DEPARTHENT DEPT _LOCATIONS

I Onamig g Dnumbar 1 Mgr_ssnl Mg:_start_dateg LQB'.L“M } Diocation |

PROJECT WORKS_ONM
{ Prigme. | Prumber [ Plocation | Daum | [Essn [ Poo | Hours |
DEPENDENT

{ Bzt | Depunden i $ex | Bdue [ Rolasianship |

Suppose that all the relations were created by (and hence are owned by) user X, who
wants to grant the following privileges to user accounts 4, B, C, D, and E:

a) Account 4 can retrieve or modify any relation except DEPENDENT and can
grant any of these privileges to other users.

b) Account B can retrieve all the attributes of EMPLOYEE and DEPARTMENT
except for Salary, Mgr_ssn, and Mgr_start_date.




image2.jpeg
¢) Account C can retrieve or modify WORKS_ON but can only retrieve the Fname,
Minit, Lname, and Ssn attributes of EMPLOYEE and the Pname and Pnumber
attributes of PROJECT.

d) Account D can retrieve any attribute of EMPLOYEE or DEPENDENT and can
modify DEPENDENT.

Write SQL statements to grant these privileges. Use views where appropriate. (8
Points)

Q3) (20 Points)

A) What are the types of SQL injection attacks? What risks associated with SQL
injection attacks? (6 Points)

B) Consider a disk with block size B = 512 bytes. A block pointer is P = 6 bytes long,
and a record pointer is PR = 7 bytes long. A file has r = 30,000 EMPLOYEE records of
Jixed length. Each record has the following fields: Name (30 bytes),Ssn (9 bytes),
Department_code (9 bytes), Address (40 bytes),

Phone (10 bytes), Birth_date (8 bytes), Sex (1 byte), Job_code (4 bytes), and Salary (4
bytes, real number). An additional byte is used as a deletion marker.

a) Calculate the record size R in bytes. (2 Points)
b) Calculate the blocking factor bfr and the number of file blocks b, assuming an
unspanned organization. (2 Points)
¢) Suppose that the file is ordered by the key field Ssn and we want to construct a
primary index on Ssn. Calculate
i.  the index blocking factor bfri (which is also the index fan-out fo); (2 Points)
ii.  the number of first-level index entries and the number of first-level index
blocks; (2 Points)
iii. the number of levels needed if we make it into a multilevel index; (2 Points)
iv.  the total number of blocks required by the multilevel index; (2 Points)
v. the number of block accesses needed to search for and retrieve a record
from the file—given its Ssn value—using the primary index. (2 Points)

With My Best Wishes
DR. Ahmed Elashry
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Full marks: 60
Date: 27/5/2019
Pages (2)

Kafrelsheikh University

Faculty of Computers & Information
Subject: Human Computer Interaction
Time Allowed: 3 Hours

Code: 1T482

Answer the following questions

(20 points)

Questionl:

Choose the correct answeyr:

1. Design a blueprint includes 6. Inspection methods of evaluating the prototype
........................ phase.
a) research a) done by users
b) analysis b) done by experts
c) iterate ¢) done by users and experts
d) at+c d) none of the above
2o verreiens prototype is time 7. Which of the following fields is not an influence
consuming. on HCI?
a) Paper a) ergonomics
b) Digital b) cognitive psychology
¢) Functional ¢) computer science
d) None of the above d) all of the above are an influence on HCI
3. Evaluationis for .........cceent 8. The following techniques are used to grasp the
a) design stage user attention except for:
b) implementation stage a) overuse of colors.
c) atb b) sound effects.
d) all stages in the design life cycle ¢) grouping.

d) underlining

4. Components of user interface are 0. vt prototyping is based on
.......................... building actual functional prototypes with
a) controls minimal functionality in the beginning.
b) display a) Throwaway/Rapid
¢) interaction b) Evolutionary
d) all of the above ¢) Incremental
d) Extreme
o R —— phase occurs intermittently 10. Vertical prototype is useful for
within prototyping work. e
a) Evaluation a) clarify complex requirements
b) Research b) refinement database design
c) lterate ¢) estimate development time, cost, and effort
d) None of the above d) atb

(Al B ALy )
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Question2: (15 points)
Explain:

1
2

(O8]

. Main categories of usability testing.
. HCI framework.

. Graphical user interface builder.

Question3: (20 points)

Complete the following sentences:

1.

[¥8)

v o N o v R

Human performance models predict human behavior in ............ e e

HOrZONTAL PIOTOLYPE 8. eveereeeeetiesi st e e

CONVIVIAHEY 15 .+ ee e et ee ettt e e
Commercial off the Shelf IS . u .o
R O oo LT e« R U P R SR RERTETILIY
Empirical evaluation methods fOCUS OI .......coooimiiiimiiiii e

TITEFACTION SEYIES A€ L..ntiiiiut i eeesire e s ettt

Questiond: (5 points)

The following design is for an elevator panel buttons which has four floors (parking,

main floor, second and third floor), door open, door close, stop, and activate emergency

intercom. Is this design good or bad, add any modification (if necessary).

aren cesen
s ey

At g
By i
Dr. Diana Thanvat Masa
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Year: 2018-2019
Final Exam
Instructor: Dr/ Amr AboHany

Time: 3 Hours
Total Marks: 60 Mark

15441 — Quality Assurance of Information Systems

Answer the Following Questions

I. Mark the Following Sentences with True or False: 40 Mark

1) "Cheap to make changes"” is one of the advantages of Waterfall Model.

2) Spiral Model Starts with product idea and just develops code until ready or project fails.

3) "Pair Programming" is one of the advantages of Agile Model.

4) Budget only is considered in choosing development model of software construction.

5) Validation is the evaluation of whether or not a product or system complies with requirements.

6) Using global variables and deep nesting of loops is required to write a simple code.

7) Readability has a negative effect on debugging and modifiability.

8) Write Program codes for Computer first, People second.

9) To build flexible software, Changes can be made to software only during the development.

10) SW development stops when the system is delivered.

11) Naming Conventions leads to increase efforts to read and understand the source code.

12) Plans are always correct.

13) A slow cash to cash cycle time indicates a lean and profitable supply chain.

14) A short Customer Order Cycle Time indicates a lean and profitable supply chain.

15) A long Supply Chain Cycle Time makes for a more efficient and agile supply chain.

16) Minimized inventory days of supply makes for a more efficient and agile supply chain.

17) A lower inventory turnover indicates an efficient supply chain.

18) A less day's sales outstanding indicate a more efficient business.

19) Perfect Order Measurement = 70, if (Error-free orders = 17 & total orders=25 ).

20) Customer Order Cycle Time measures how long it takes to deliver a customer order after the purchase
order is received.

21) Days Sales Outstanding is calculated by dividing the average inventory (as value) by the average
monthly demand (as value) and then multiplying it by thirty , when measuring on a monthly basis.

22) Freight Bill Accuracy = 60%, If (Error freight bills=4 & Total freight bills=10).

23) Fill Rate = 75.142%, If (Shipped items=6 &Total items=14).

24) On Time Shipping Rate, percentage of order value that arrives on or before the requested ship date.

25) Security Management refers to the overall management system of an organization that determines and
implements quality policy.

26) System Design includes those operational techniques and activities that are used to fulfill requirements
for quality.

27) The QMP defines an organization's Quality Assurance related to Roles, responsibilities, and authorities.

28) You can implement improvement for quality by identifying process improvement opportunities.

29) Supply Chain involves Producing, delivering a product or service.

30) Language and cultural differences are Complexities in Global supply chains management.

31) Obeying laws and operating to conform to regulations is an economic aspect of management
responsibility.

32) Eliminate the role of ‘traditional’ retailers and/or an intermediary is an advantage of e-business.

33) Supplier Certification is the process of evaluating the sources of supply in terms of price, quality,
reputation, and service” considers.

34) “Ongoing relationship” is considered “long-term” relationship in Supplier Relationship Management.





